
1. Unscrew a screw
M4x16 ISO 10642

Allen key 2,5

2. Mount it to the wall.

Dowel

RMSA1 INSTRUCTION MANUAL



Mounting front plates to the 
back of screen



wrench 13

Allen key 5

1. Unscrew a screw M8x70 DIN 933 to unlock the arm

- Suspend the monitor on the mount
- Tighten the screw until the clamp locks 

the arm

2. Set the arms at the hole in the profile and screw the 
M6x20 DIN912



Tilt adjustment:
- loosen 4 screws - M8x30 DIN933

- tilt the screen, a
- tighten the scerws

Height adjustment:
- loosen the screw M8x10 DIN 913

- set the required height
- tighten the screw 

Allen key 4



Landscape and portrait option: pull out the mount 
and rotate it.


	1. Montaż do ściany RMSA1
	2. Montaż ekranu RMSA1
	3. Montaż ekranu na uchwycie RMSA1
	4. Regulacja 1 RMSA1
	5. Regulacja 2 RMSA2

